6R2 - Solve problems involving the calculation of percentages [for example, of measures, and such as 15% of 360] and

the use of percentages for comparison

What is 3% of 9007

What is 10% of 1707

What is 5% of 1807

What is 20% of 1357

There are 340 children in a school.
15% of the children have blonde hair.
How many children have blonde hair?

A supermarket sells 2000 Llitres of blue top milk per day.
It sells 35% more green top milk than blue top milk.
How many litres of green top milk are sold per day?




